GORLA
15/ Nm
LS 6941

PIN A 4x25

791

WASHER 14X24

9935

PIN #12x45

789

SPRING WASHER A 8

3446

NUT M8

3455DAD

U-BOLT MBx28x48

1266

KEEPER

LS 1285 BR

CLAMP

LS 6941 BBI

DESCRIPTION

N* DRG.

= B S TSI T I N NG PG I N

MATERIAL

SJJ.GOQLQ

MORSETTERIE
MILANO

TECHNICAL OFFICE

SUSPENSION CLAMP
FOR Cu AND COPPERUELD
CONDUCTORS # 4 - 7 mm
BREAKING LOAD 11 kN

Rev.1 dated 14.03.66

ore. N.LS 6941BR

1

FORMATO A3(297x428)-UNI 936 @ 1 2 3 4

S
1

e 8 S 18cm.
f L 1 |




KEEPER LINER

CLAMP LINER

PIN A 4x25

791

WASHER 14X24

787

PIN #12x45

789

SPRING WASHER A 13

4430

NUT M12

3268

U-BOLT M12x6@

3863

STEEL

NW|dUI|O |\ |00 |W

KEEPER

LS 1160

STEEL

—_

CLAMP

LS 5227 BIS

CAST IRON

ITEM

DESCRIPTION

N* DRG.

ﬁz»—\»—\whhp—\»—\»—\»—\»—\

MATERIAL

SJJ.GOQLQ

MORSETTERIE
MILANO

TECHNICAL OFFICE

SUSPENSION CLAMP

FOR Cu AND COPPERUELD
CONDUCTORS ¢ 7 - 11 mm
BREAKING LOAD = 24 kN

Rev.1 dated 14.03.66

1

FORMATO A3(297x428)-UNI 936 @ 1 2 3 4

S
1

DRG. N. LS 5227

e 8 S 18cm.
f L 1 |




77@?§§7@77

PIN A 4x25

791

WASHER 14X24

9935

PIN #12x45

789

SPRING WASHER A 10

718

NUT Mi8

3316

U-BOLT M1@x55

4169

KEEPER

LS 1168 BR

1

CLAMP

LS 5227 B8

ITEM

DESCRIPTION

N* DRG.

7 (SN TSNS [ ) FG) PG NG UG N

MATERIAL

SJJ.GOQLQ

MORSETTERIE
MILANO

TECHNICAL OFFICE

SUSPENSION CLAMP

FOR Cu AND COPPERUELD
CONDUCTORS ¢ 7 - 11 mm
BREAKING LOAD = 24 kN

Rev.1 dated 14.03.66

orRe. NLS 522/BR

1

FORMATO A3(297x428)-UNI 936 @ 1 2 3 4

S
1

6 e 8 S 18cm.
! f ! 1 s




PIN A 4x25

791

STAINLESS STEEL

WASHER 18x30

776

STEEL

PIN #16x60

2692

STEEL

SPRING WASHER A 13

4430

STAINLESS STEEL

DATE

MODIFICATIONS

DRAWER

APPROVED

HEX. NUT M12

3268

STAINLESS STEEL

U-BOLT M12x65

329

STEEL

KEEPER

LS 2897

STEEL

1

SUSPENSION CLAMP

LS 16a1 BIS

CAST IRON

SJJ.GOQLQ

MORSETTERIE
MILANO

ITEM

DESCRIPTION

DRAWING N°

ﬁzb—\l—\whhl—\b—\b—\

MATERIAL

TECHNICAL OFFICE

SUSPENSION CLAMP

FOR Cu CONDUCTORS ¢ 9 - 18 mm

R= 80 kN

SCALE

DRAUER

DATE

APPROVED

DATE

FORMATO A3(297x428)-UNI 936 @ 1 2 3

bRy, N. LS 10601

e
f

8 S
! 1




[EEN
[EEN

KEEPER LINER

COPPER

CLAMP LINER

6842CU

COPPER

HEX. NUT Mi6

STEEL

HOT DIP GALV.D
(IS0 1461)

PIN A 4x36

802

STAINLESS STEEL

WASHER 18x30

776

STEEL

7 DIP GALV.D
1461)

BOLT M16x80

STEEL

[P GALU.D
0 1461)

SPRING WASHER A 13

4430

STAINLESS STEEL

DATE

MODIFICATIONS

DRAWER

APPROVED

HEX. NUT M12

3268

STAINLESS STEEL

U-BOLT M12x65

329

STEEL

NW|dUI|O |\ |00 |W

KEEPER

LS 2897

STEEL

[N

SUSPENSION CLAMP

LS 16a1 BIS

CAST IRON

SJJ.GOQLQ

MORSETTERIE
MILANO

ITEM

DESCRIPTION

DRAWING N°

ﬁzb—\b—\l\thb—\b—\b—\b—\b—\b—\

MATERIAL

TECHNICAL OFFICE

SUSPENSION CLAMP
WITH LINERS AND BOLT

FOR Cu CONDUCTORS # 9 - 18 mm

R= 80 kN

SCALE

DRAUER

DATE

APPROVED

DATE

L51601GCB

1

FORMATO A3(297x428)-UNI 936 @ 1 2 3

4
!

S
1

DRU. N
6

e 8 S 18cm.
f L 1 |




